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Question I:(3 points)
‘ 1. Choose the correct answer:

(@) The equation uy, = x2uy, is
i. Hyperbolic for all x.
') dyperbolic for x > 0.
@ Hyperbolic for x # 0.
iv. None of previous.
(b) A partial differential equation of the family surfaces of z = x% +? is
1 )yzy—x2, =0,
Y2 —x2, =0,
il yzy+xz, =0,
iv. None of previous.

(c) The subsidiary equation of iy tu—1= lg—tuy is given by
: dx _ 3y _ 4
| e
| i, & = 34y _ du

y-1 = 1-u’
1=y a5 u=T:

iv. None of previous.

(d) The general solution of the partial differential equation ng +4
(D) ulny) = f(4x—5y)es.
1. u(x,y) = f(4x—5y)es.
i, u(x,y) = f(4x—5y).
iv. None of previous.

(e) A particular solution of PDE 3y, + 3uy =2 is
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iv. None of previous.

(f) The Cauchy problem Uy

*+ty = u with initial condition xo = ¢, Yo =t, up = sint,
has
i. One solution.
ii. ) No solution,

iii, Infinitely many solutions.







